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THE SCHOLARSHIP TEST 2025  

GRADE 7 & 8 

Important Instructions for Students (MCQ-Based Question Paper) 

1. Read Each Question Carefully: 
o Understand the question completely before selecting your answer. 

2. Choose the Correct Option: 
o Each question has four options (A, B, C, D). 
o Select the most appropriate answer. 

3. Marking Scheme: 
o Each correct answer carries 4 mark. 
o There is negative marking 1 mark every wrong question  

4. Answer Sheet Instructions: 
o Use a blue pen /Pencil 
o Do not overwrite or strike off your answers. 

5. Time Management: 
o Total questions: 25 
o Total marks: 100 
o Time allotted: 60 Minutes  
o Spend your time wisely; do not waste too much time on a single question. 

6. No Use of Calculators or Electronic Devices: 
o Use of mobile phones, calculators, or any electronic gadgets is strictly prohibited. 

7. Ticking more than one option will be taken as wrong answer: 
o Make sure all questions are attempted. 
o Revisit doubtful answers if time permits 

 

1. Identify the type of voice in the sentence: 'The cake was eaten by John.' 

A. Passive Voice B. Active Voice  C. Interrogative Voice    D. Exclamatory Voice 

2. Which of the following is a preposition? 

A. Beautiful  B. Under  C. Quick  D. Tall 

3. What does the term 'Alliteration' refer to in literary terms? 

A. Use of 'and'  B. Repetition of consonant sounds C. Use of a question 

D. Use of punctuation 

4. Choose the correct conjunction: 'She is poor ___ honest.' 

A. and   B. but   C. or   D. so 

5. What is the speech part of 'Quickly' in the sentence 'She runs quickly'? 

A. Adjective  B. Adverb  C. Noun  D. Verb   
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6. Identify the passive voice sentence. 

A. The boy kicks the ball.  B. The ball was kicked by the boy. 

C. The boy was kicked by the ball. D. The ball kicks the boy. 

7. Which of the following is NOT a conjunction? 

A. But   B. And   C. Or   D. Run 

8. Which literary term refers to the comparison using 'like' or 'as'? 

A. Metaphor  B. Simile  C. Personification D. Hyperbole 

9. Identify the preposition in the sentence: 'The cat is under the table.' 

A. Cat   B. Under  C. Is   D. Table 

10. Select the correct conjunction to complete the sentence: 'He is tired ___ he will continue.' 

A. and   B. but   C. so   D. because 

11. What is the additive inverse of -7? 

A. 7   B. -7   C. 0   D. -1 

12. Which of these is equivalent to 0.75? 

A. ¾   B. ½   C. 1.5   D. 0.25 

13. How many degrees are there in a straight angle? 

A. 90°   B. 180°   C. 270°   D. 360° 

14. In a triangle, the sum of all interior angles is: 

A. 180°   B. 360°   C. 90°   D. 270° 

15. Two triangles are congruent if: 

A. They have equal areas.   B. They have equal perimeters. 

C. All angles are equal.    D. One side is longer. 

16. A shopkeeper allows 10% discount on ₹500. How much does the customer pay? 

A. ₹450   B. ₹500   C. ₹550   D. ₹600 

17. The area of a rectangle is length x breadth. If length = 5cm and breadth = 3cm, area = ? 

A. 15 cm²  B. 8 cm²  C. 30 cm²  D. 10 cm² 
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18. Which of these is a property of integers under addition? 

A. Closure property    B. Associative property  

C. Distributive property   D. Commutative property 

19. What is the perimeter of a square with side 6 cm? 

A. 24 cm  B. 18 cm  C. 30 cm  D. 36 cm 

20. Find the missing angle if two angles of a triangle are 50° and 60°. 

A. 70°   B. 60°   C. 80°   D. 100° 

21. Which of the following is NOT a property of a triangle? 

A. The sum of angles is 360°.   B. The sum of angles is 180°. 

C. It has four sides.    D. It has one angle more than 180°. 

22. The product of two fractions is always a: 

A. Fraction  B. Integer  C. Decimal  D. Whole number 

23. If ΔABC ≅ ΔDEF, which of the following is true? 

A. ∠A = ∠D  B. ∠B = ∠E  C. ∠C = ∠F  D. ∠A = ∠E 

24. What is the area of a square with side 8 cm? 

A. 64 cm²  B. 32 cm²  C. 16 cm²  D. 24 cm² 

25. The ratio of 4:5 is equivalent to: 

A. 8:10   B. 16:20  C. 12:15  D. 20:25 

26. What is the supplementary angle of 110°? 

A. 70°   B. 80°   C. 90°   D. 60° 

27. Find the perimeter of a rectangle with length 10 cm and breadth 4 cm. 

A. 28 cm  B. 40 cm  C. 32 cm  D. 20 cm 

28. How many sides does a triangle have? 

A. 3   B. 4   C. 5   D. 7 

29. Which of the following is NOT an integer? 

A. 2/3   B. 0   C. 5.6   D. -4 

 



 
 
THE SCHOLARSHIP TEST 2025 
 

30. In percentage, ½ is equal to: 

A. 50%   B. 25%   C. 75%   D. 30% 

31. Which of the following is an element? 

A. Oxygen  B. Hydrogen  C. Carbon dioxide D. Water 

32. What is the chemical symbol of water? 

A. H2O   B. O2   C. NaCl   D. CO2 

33. Which organ is responsible for pumping blood? 

A. Heart  B. Lungs  C. Brain  D. Liver 

34. Which of these is NOT part of the human respiratory system? 

A. Stomach  B. Liver   C. Nose   D. Kidney 

35. Which gas is most abundant in the atmosphere? 

A. Nitrogen  B. Oxygen  C. Carbon dioxide D. Hydrogen 

36. What is the smallest unit of life? 

A. Cell   B. Molecule  C. Atom  D. Tissue 

37. Which of the following is a chemical reaction? 

A. Burning  B. Freezing  C. Condensation D. Evaporation 

38. Which organ filters blood in the human body? 

A. Kidney  B. Liver   C. Heart  D. Stomach 

39. Which is a biotic component of an ecosystem? 

A. Tree   B. Sunlight  C. Air   D. Water 

40. Which of the following shows hereditary characters? 

A. DNA   B. Gene   C. Chromosomes D. Ribosome 

41. Which of these is not a renewable resource? 

A. Petroleum  B. Wind  C. Coal   D. Sun 

42. What is the process of plants making food called? 

A. Photosynthesis B. Evaporation  C. Transpiration D. Respiration 
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43. Which of the following is a molecule? 

A. H2O   B. O2   C. CO2   D. NaCl 

44. Which part of the cell contains genetic material? 

A. Nucleus  B. Ribosome  C. Cell wall  D. Mitochondria 

45. Which planet is known as the Red Planet? 

A. Mars   B. Venus  C. Jupiter  D. Mercury 

46. What is the main function of red blood cells? 

A. Carry oxygen B. Carry food  C. Digest food  D. Give energy 

47. Which one of these is an example of a physical change? 

A. Melting of ice B. Burning paper C. Rusting  D. Mixing salt in water 

48. Which of the following is not part of the ecosystem? 

A. Car   B. Sun   C. Forest  D. Bacteria 

49. What does evolution explain? 

A. Origin of species B. Plate tectonics C. Chemical reactions D. Physical fitness 

50. Which of these is NOT an element? 

A. Air   B. Water  C. Gold   D. Silver 

 


